
NOTE:
Shaded maneuvers
are prohibited when
the twin gun version
of this aircraft is used 

R = Aircraft may perform 
a restricted maneuver the
next turn; Pilots may unjam
or reload machine gun(s) 
while aircraft performs 
one of these maneuvers 
(no climbing or diving is 
permitted during attempt).

F = +1 Extinguishing Fire

STRAIGHT

Sopwith Pup
Britain: Dec'16 - Feb'18;  Russia: Jan'17 - End.  Some squadrons flew with a single Vickers MG and a Lewis Gun mounted
on the top wing (probably on a Foster Mount; in use Sep'17 onward).  If  aircraft is given two machine guns, maximum 
altitude is 7+ and "shaded" maneuvers becomes prohibited.

▲                  Restricted Maneuvers        ▲
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AIRCRAFT MANEUVER SCHEDULE
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Fighter

C= May climb to max.
C1= Max climb is 1.
D= May dive to max.
D1= Max dive is 1.
L= May fly level.
X= May fly level, but 

  must dive next turn.
- = May not perform.

AIRCRAFT USE:

NOTES:
Climbing and performing 
a 27S2 maneuver requires 
the aircraft to have dived 
at least 2 altitude levels 
the previous turn. 
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FIRE TEMPLATES
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